Package Contents ® Packungsinhalt ® Contenu @ Contenido

del paquete ® GE[CDINT o EIEE:REH o B2EIAA

MB155SP-B Device
MB155SP-B Backplane
Produit

Base de conexiones
BEKIK

Emis

Emils

Quick Installation Guide
Bedienungsanleitung
Manuel d’utilisation
Manual de instrucciones
RAE

REAE

WEAP

M3*4 screws x 8 for device

M3*4 Schrauben x 8 (fur Backplane)
8 x vis M3*4 pour l'appareil

Tornillos M3*4 x 8 para el dispositivo
TINARARD 8fE
SRASHIEAY B IR (M3x4)

ST T E FIELL (M3+4)

#6-32 flat head screws x 10 for drive tray
#6-32 Schrauben x 10 (fir HDD-Carrier)

10 x vis plates #6-32 pour le tiroir

Tornillos de cabeza plana n°6-32 x 10 para

la bandeja de la unidad

HDD A+ 10{&
105856 Tray 2 5 244 (#6-32)
1085 Tray & & gL (#6-32)

HDD 5 —+—

Front Panel Information ® Frontseite ® Description Facade @ Informacion
del panel frontal ® BTE /SR JLIZDLNT © EHUESERR A © EHRKT SR

—— HDD5
Power (Green) & Access (Amber) Indicator

— HDD 4
Power (Green) & Access (Amber) Indicator

— HDD 3
Power (Green) & Access (Amber) Indicator

— HDD 2
Power (Green) & Access (Amber) Indicator

— HDD 1
Power (Green) & Access (Amber) Indicator

) DDA (0D 0 OG0 X 0

Drive Ejection Button

[

Rear Panel Information e Riickseite ® Description Fagade Arriere
® Informacion del panel trasero ® HE/ \RJLIZDULNT o SiRERBE =

® BiRIEAAE T

92mm Cooling Fan

O
<%;>®
O @

BET
@

=
©

&
1
3l
-Hi

C—m1

SATA Power Port

Cee—e——3 C——a®

— 2 Pin Fan Connector

Fan Speed Jumper

3 Pin Fan Connector

HDD 4 HDD 3 HDD 2 HDD 1

[E=——13—15 Pin SATA Power Port [f==1— 7 Pin SATA Port

Fan Speed Jumper Settings ® Jumper-Einstellung fir
Luftergeschwindigkeit ® La Configuration du Cavalier de Vitesse

Ventilateur ® Configuracion del puente para la velocidad del ventilador

o 7 SRR v IN\—DIEEFIE BB IR JJumper R AE S BB
® X5 iEiE Jumper IR1E 18

Jumper Setting Fan Speed

Fan Speed Jumper

O OYHIGH High 100% (Default)
O O+Low Low 60%
O O#OFF Off Off

The default setting is set to High (100% fan speed). If you wish to change the fan speed,
remove the jumper from the configuration header. Then plug the jumper into the desired
fan speed setting to complete the change.

StandardmanRig ist der Jumper auf High (100% Luftergeschwindgkeit) gesetzt. Wenn Sie

die Luftergeschwindigkeit &ndern wollen, so ziehen Sie den Jumper ab und stecken ihn
auf die Position der gewinschten Luftergeschwindigkeit.

La Configuration par défaut est définie sur “Haut” (100% la vitesse du ventilateur). Si vous

souhaitez modifier la vitesse du ventilateur, retirez le cavalier de la configuration initiale.

Ensuite, branchez le cavalier sur le réglage de la vitesse du ventilateur désiré pour valider

la modification.

De forma predeterminada, se establece en Alta (100% de la velocidad del ventilador).
Si desea cambiar la velocidad del ventilador, quite el puente del bloque de contactos
de configuracion. A continuacion, enchufe el puente en la configuracion de velocidad
del ventilador que desee para completar el cambio.

77> DEIERRE (LT hihgn4-V 1 EBRERT 5 (100% £ EERE) . O EEEREICYIYE X
BEEITE, T7VRHBEI v N\ —E TIHHARREMENSIRYHL, Ov o/ —EEER
EiRSHCELE ., ZELAHFET.

R REEER D Hi ghiRE (100% 288 %) , WMRFEYNG A MRS, Fi%ERHRE

%gﬁ;ﬁg}ﬁ%ﬁﬁﬁﬁﬁﬁﬁﬁﬁ B4R R AR Jumper £ AR IRV SRR HESHU B 12
Al

RUBREEEBIARHI ghtER (100%2%55%) , WRFEIRAHT

;f%r;gEﬁE_EIlfﬁ%ﬁMEiﬁﬁﬁﬁﬂiy ISR IR Jumper X AR IR IE
Al .

it st

e, HRXEERE
FHEEEXHS L ER

A

Installation Guide @ Installationsanleitung ® Guide d'Installation ® Guia
de instalacion e E @ DAAHAHFIBIC DT o IRIELHER o RIEL

. Press down the drive ejection button to release the tray lever and then use the lever
to extract the drive tray.

A. Auswurftaste nach unten driicken um den Hebel ausklappen zu lassen. Den Hebel

>>»>» >

nutzen um den HDD-Carrier zu entnehmen.
. Enfoncer le bouton éjecte pour faire sortir le levier; s'en servir pour extraire le tiroir.

. Presione el botdn de ejecucion para liberar la palanca de la bandeja; utilice la palanca
para extraer la bandeja del disco duro.

AUAERYBE TR FLAIZDNTVR IO I R2VE LTS,
CTEESE, BFEL, AHMEIERE.
TR, BFEE, BHEBERE.

SLIDE

L2

. Dismount and remove the tray support from the drive tray. Keep the removed screws
and mount the SATA drive using the #6-32 screws provided (2 included from the tray
support).

. Entnehmen Sie den HDD-Carrier und entfernen Sie den Mittelsteg. Schrauben Sie die
SATA-Festplatte mit den beigelegten Schrauben in den Carrier und setzen diesen
anschliefen wieder in das Gerat ein.

. Démonter et enlever le tiroir afin de visser le disque SATA a l'aide des vis fournies. Une
fois fait, réinserer le tiroir dans l'appareil.

. Desmonte y extraiga el soporte de la bandeja y monte la unidad SATA utilizando los
tornillos suministrados. Una vez completado este paso, vuelva a insertar la bandeja de
la unidad en el dispositivo.

.SATARSAT%#FATBEIE. FLADIIUEZEIET L. FSATEEEFER. BET/N(RIC
FHAIAATLIZSLN.

EEEEREBH, BREREAMNE, EEE, SmINEMEREN.
BSMEEXREF, BRERRAENE, BER, BHMMEMEAREN.

Please do not discard the removed screws,
as it is for HDD/SSD mounting purposes.

HDD

|
=) il




. Install the device onto the case. Connect the SATA ports to the motherboard and make
sure to connect three 15 Pin power ports from the power supply in order to obtain
enough power.

. Installieren Sie die MB155SP-B Backplane in Ihrem PC-Gehause. Verbinden Sie die
SATA-Anschliisse mit lhrem Motherboard und stellen Sie sicher, dass alle drei 15 Pin
Stromanschllisse angeschlossen werden um genligen Strom zu beziehen.

. Intégrer I'appareil au boitier d'ordinateur. Connecter les ports SATA avec ceux de la carte
mere ainsi que les 3 cable 15 pin d'alimentation.

. Instale el dispositivo en la carcasa. Conecte los puertos SATA a la placa base y asegurese
de conectar los tres puertos de alimentacién de 15 pines de la fuente de alimentacion para
obtener suficiente potencia.

CTNARE T —RITRBLD I —R—RESATAR—h EZ L TS0 2 DR, FIE
IC15PInEIR7 — T L& gL T30 BRy—TLIE+ R HEANBETY.

. f§MB155SP-BZ SX B R o, 1B SESATAR, [ 2 F #AR L 3 Bl FE 340 iR {18 25 Y
SATA 15 PinfkBHE mA FIIEERLEN, E1E.

. J4MB155SP-BRE BIALFEH,  JEHESATALG O 2 M 4R L F = A %43 340 B IR (7 23 Y

G|
S
SATA 15 PiniEkF=mA RIIEE B3N, &1k

(Optional) Cooling fan replacement diagram. Fan dimension: 92*92*25mm.
(Optional) Lufterinstallations-Diagramm. Lufter-Mafie 92*92*25mm.
(Facultatif) Installation du ventilateur. Dimensions : 92*92*25mm.
(Opcional) Diagrama de instalacion del ventilador de refrigeracion.

Dimensiones del ventilador: 92*92*25mm.

(FTLav) AR I77 AT HEEIE. 92x92x25mmH A XEFFAL TS0,
(RIH) BRRETEE. ERR~%92%92+25mm.
GEI) RERETREER. XE R~ 492%92%25mm.

NOTE ¢ HINWEIS e Remarques ® NOTA o H4151 o iF5F o &if:
1. All product specifications are subject to change based on the actual product description. We reserve the right
to change or modify any product specification(s) without notice.

Wir behalten uns das Recht vor, die Produktspezifikation zu dndern. Jede Anderung der
Produktspezifikation kann ohne vorherige Ankiindigung vorgenommen werden.

Toute caractéristique du produit est sujette a étre modifiée par rapport a la description actuelle du produit.
Nous reservons le droit de changer ou modifier toute caractéristique du produit sans en avertir.

Todas las especificaciones del producto estan sujetas a cambio en funcién de la descripcion del producto real.
Nos reservamos el derecho a cambiar o modificar cualquier especificacion del producto sin previo aviso.

BHIUSRREEOEFEAL. ZOBRIRENELEEA,
AN ERELERGE ESRREUARYAE, WU, BFBTEM.
AN ENERF=RME, FRIAEUATYAE. MEAR, BTBTEM.

N

ICY DOCK will not be liable for any software, hardware, or data stored within or interfacing with ICY DOCK products
which results in damage or malfunction. ICY DOCK will only be responsible for repairs and services of ICY DOCK
products.

Fir den Verlust von auf unseren Produkten oder mit Hilfe unserer Produkte gespeicherten Daten oder Schaden durch
jegliche Software oder Hardware die mit unseren Produkten verbunden ist, ist ICY DOCK nicht verantwortlich.ICY DOCK
Gbernimmt nur fiir die Reparatur von und Dienstleistungen fiir ICY DOCK Produkte Verantwortung.

La responsabilité de ICY DOCK ne pourra etre engagée que pour le dysfonctionnement de ses propres produits.

ICY DOCK no asumira ninguna responsabilidad por ningun software, hardware o dato o almacenado dentro
de los productos ICY DOCK o que interactian con estos que dé lugar dafios o errores. ICY DOCK solamente
se hara responsable de las reparaciones y servicios de los productos ICY DOCK.

FRERDERDRY ICEL > THDRBICHEARET 2158, BHEFBREEET ZEELTZAVET. ORFEDEEIH
LT—HIDEFZEVE A,

MEATEERAAEREMSLAMERREZNE ALAEGEARBERTIBESE, SREMRBREANMTEAE
WAL ERAAFRATMELETHEXREZHE ALARMEERFRZIRERE, ERETRERAMA AR,

w

. Due to different drive specifications for the drive access signal, some drives may not support the access LED.
If the LED does not function, but the user can read and write to the drive, it falls under this category. If the LED
does not function, and the drive cannot be read or written to, please contact us for troubleshooting.

Auf Grund unterschiedlicher Spezifikationen kann es vorkommen, dass manche Laufwerke das
HDD-Zugriffssignal nicht unterstiitzen. Dieser Fall trifft zu, wenn Sie Lese- und Schreibzugriff auf das Laufwerk
haben, die LED aber kein Zugriffssignal anzeigt. Sollten Sie keinen Lese- und Schreibzugriff auf das Laufwerk
haben und die LED auch nicht funktionieren, so kontaktieren Sie uns bitte zur zur Fehlerbehebung.

A cause des différentes spécifications des signaux d'acces, certains disques durs ne supportent pas l'acces.
Si la LED témoin ne s’allume pas, alors le disque dur n’est pas pris en charge, contactez-nous pour un
dépannage.

Debido a las diferentes especificaciones de las unidades para la sefial de acceso a dichas unidades, algunas
de estas puede que no admitan el LED de acceso. Si el LED no funciona pero el usuario puede realizar
operaciones de lectura y escritura en la unidad, dicho LED se encuentra dentro de esta categoria. Si el LED
no funciona y no se pueden realizar operaciones de lectura o escritura en la unidad, péngase en contacto con
nosotros para solucionar el problema.

HDDH N E B FA—H—ITKYRLYFET  HEICL>T—HAHDDA AR R DLEDS L T ISR G TELMEE
BHYET ALT—IDRAZEA AL T NITRIEIHENBYFEL A, LEDFV T RATLAVD EFHAEBETELN
8. BLahEtEal.,

B B REARLEDINEF SRR ARARIB R R AR B A B A AR, A —LCRERR Al BEA SciF EE qnRYLEDIR TR B AR 5% -
MRHFETNEME, WRHERE, WREEREFRTIELES LR, FHAERM.

B 2 ZLEDINEW S M HAERIE R IR A AMAR, B —LREAR RS =mAILEDIETRATAT S .
MREIFLT GF R, WAEMIRE, WREDIERIARHFIERSEIR, 1HEHKN.

4. To utilize the hot swap function, the host must also support hot swap. To check if your host supports hot swap,
please refer to the motherboard or controller card specifications and user manual.

Um Hot Swap zu nutzen muss diese Funktion von dem Host unterstiitzt werden. Konsultieren Sie hierflr bitte
die Bedienungsanleitung lhres Mainboards oder Ihrer Controller-Karte.

Pour profiter pleinement la fonction Hot-Swap, vérifiez que votre configuration accepte également la fonction
Hot-Swap.

Para utilizar la funcién de intercambio en caliente, el dispositivo principal también debe admitir esta funcion.
Para comprobar sea el dispositivo principal admite la funcién de intercambio en caliente, consulte las
especificaciones y el manual del usuario de la placa base o de la tarjeta controladora.

J)L THot-SwaptEeZH AT 5154 . HostfllHHot-Swap i REIC X IS T 2L ENHYET .
HARSE2{EAHot-swaphiTIEE, BlHostifhth FBE H#5Hot-swapIift.,
E T2 ERHot-swapfITNAE, MHostimthFEE FFHot—swapI&E .

o

For further questions or concerns about ICY DOCK products, please visit us at http://www.icydock.com
Fir weitere Fragen im Zusammenhang mit ICY DOCK Produkten besuchen Sie bitte http://www.icydock.de.
Si vous souhaitez obtenir plus d'informations sur nos produits, venez visiter notre site : http://www.icydock fr

Si tiene alguna pregunta o duda acerca de los productos ICY DOCK, visite nos en el sitio web
http://www.icydock.com

HEVEDEDEBEREIZEFDKR—LR— © hitp://www.icydock.com 72 £ X LTL 2L,
MHRMES EREN, B0l L4558/ T 48 : hitp://www.icydock.com.
IARENE % P BE L, RI _E R BT 25 23 B) I3 - http://www.icydock.com.,

ICY DOCIK
5in 3 3.5" SATA Hard Drive Backplane Module

FatCage  MB155SP-B

Copyright © 2012 ICY DOCK International. All Rights Reserved. 650188 VER 1.0




